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Where do we find a day — TIOR WNXPRY N INIPRY Y WA 1997
where partially it is permitted and partially it is forbidden

OVERVIEW

""ax1 challenges the view of >"1 who maintains that the 70X 710X on 9"V begins
at the mann ya. It turns out, therefore, that part of the day, from “nwn Mm%y until y3
mann, work is permitted, and the other part of the day, from 7217 ¥1 onwards, work
1s prohibited. °"ax" asks rhetorically where do find such a day which is partially
AN and partially 70X; indicating that we do not find this anywhere. n190In
qualifies this statement.
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The explanation of this inference, that there is no day which is 1n¥pmn 20 NXPn
710X, is only where there is no reason to make an M0°X for part of the day, like

here by ;70x%1 710°X and similarly by y»m 20X from which >"1 challenges *"ax~.
In these two cases there is no rational to divide the day and maintain that part is "m» (for n»wy
79X71 and/or yan n°oK) and part is 70K,
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However where there is a logical reason to divide the day into time zones of MO*X1 N7 -
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For instance the rule that a person may not eat 705 27V from 7m» onwards in
order that he have an appetite (for the 7¥n), and similar logical restrictions for

part of the day; "X was not referring to these cases. It is understood that where there is
compelling logic to limit an 719°X to part of the day, the o251 will certainly do so.

SUMMARY

A day may be divided into times of 719°X1 7n°7 when there is a logical reason for it;
however when there is no logic then (according to °"aX7) there is no day NXprRY
TON INXPM M.

THINKING IT OVER

" The term w12 is used here to qualify this broad statement of *"ax".
2 >"3x challenges *"1 why divide the day into two parts concerning 7987 110>k when there is no logic to compel us.
*"q responds there is no logic to compel that yn n2°5x% Mo°X should be for part of the day. Both sides are discussing
situations where there is no compelling logic to divide the day into 710°X1 N1 zones.
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MooIN states that there is no X120 why part of the day should be 7012 and part 70X
by 7o8%n n»wy. However, in the previous moon it was explained why "
maintains that the 7985 MoK should begin with i y12°

* See *"ax1 7" Mna (TRT) R"wIn and XN WL
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